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1. �4> 5OEFD> =4G4FL <E?>?L7>64FL M?5>FD>>4<5=>G 

1.1 �D>65D<FL ?5D54 F5<, >4> 6>?NG<FL M?5>FD>>4<5=>G 
 
1. �><5M5=<5 ?D<7>4=> 4?O ?D<5<4 E4G=O. 
2. �>=4 < 465D< 74>DOFO. 
3. �4<5=>4 74?>?=5=4 >4<=O<< 6 E>>F65FEF6<< E D5>><5=44F<O<< <77>F>6<F5?O. �4<=< G?>65=O E  
       747>D4<< < ?>>DO64NF =47D564F5?L=O5 M?5<5=FO. 
 
�$���'����: �4?D5M45FEO <E?>?L7>64FL >5D4<<G5E><5 >4<=<. 
 
 

1.2 $45>F4 ?G?LF4 G?D46?5=<O M?5>FD>>4<5=><   
 
'EF4=>6<F5 F5D<>EF4F >4<5=>< =4 =G6=GN F5<?5D4FGDG. �O <>65F5 =4=F< <454?L=GN F5<?5D4FGDG 4?O 
?D<=OF<O E4G=O, 5E?< E=4G4?4 ?>EF46<F5 D57G?OF>D F5D<>EF4F4 =4 <4>E<<4?L=>5 ?>?>65=<5.  �>744 
?><5M5=<5 E4G=O 4>EF4F>G=> =47D55FEO, ?D>EF> ?>65D=<F5 D57G?OF>D F5D<>EF4F4 >5D4F=>, F.5. ?D>F<6 
G4E>6>= EFD5?><, ?>>4 =47D564F5?L=O5 M?5<5=FO =5 >F>?NG4FEO (6O GE?OL<F5 M5?G>>). �O <>65F5 
F>G=> =4EFD><FL F5<?5D4FGDG ?D>EFO< 6D4M5=<5< DGG>< F5D<>EF4F4 6 ?N5>< =4?D46?5=<<. 
 
-?5>FD>>4<5=>4 <<55F 12-G4E>6>= F4=<5D.   
 
&4=<5D 6>?NG45FEO ?GF5< ?>6>D>F4 DGG>< F4=<5D4 ?> G4E>6>= EFD5?>5 <7 ?>?>65=<O «0».   
 
� ?>?>65=<< «0» ?<F4=<5 >F>?NG5=>, < M?5>FD>>4<5=>4 =5 6>?NG5=4. 
 
�E?< GEF4=>6<FL DGG>G 6 ?>?>65=<5 033 G4E4, =47D564F5?L=O5 M?5<5=FO 6>?NG4FEO, < M?5>FD>>4<5=>4 
5G45F ?>445D6<64FL 7444==GN F5<?5D4FGDG 6 F5G5=<5  6O5D4==>7> ?D><56GF>4 6D5<5=<.    
 
�E?< GEF4=>6<FL DGG>G 6 ?>?>65=<5 139 G4E>6, 6O <>65F5 7444FL 6D5<O, ?>E?5 >>F>D>7> M?5>FD>>4<5=-
>4 6>?NG<FEO. �4?D<<5D, 5E?< GEF4=>6<FL DGG>G =4 F<DDG 6, M?5>FD>>4<5=>4 6>?NG<FEO G5D57 L5EFL 
G4E>6 < 5G45F ?>445D6<64FL 7444==GN F5<?5D4FGDG 6 F5G5=<5 FD< G4E>6, ?>>4 F4=<5D =5 65D=5FEO 6 
?>?>65=<5 «0». 
 
�><D>DF=4O, <O7>4O F5<?5D4FGD4 4?O ?D<=OF<O E4G=O E>EF46?O5F >>>?> 70 °C. 
 
�5D5>?44O64=F5 >4<=< =5 D565 >4=>7> D474 6 7>4, < <5=O=F5 ?>6D5645==O5 >4<=<. -F> G65?<G<645F 
F<D>G?OF<N 6>74GE4 G5D57 >4<=<, GF> G65?<G<645F ED>> E?G65O &-�>6.   
 
�E?< G 64E 6>7=<>=GF >4><5-?<5> ?D>5?5<O, ?>64?G=EF4, E6O6<F5EL E E5D6<E-F5=FD>< 4<EFD<5LNF>D4.  
 
�4 4>?>?=<F5?L=>= <=D>D<4F<5= > F><, >4> ?>?GG<FL <4>E<<G< G4>6>?LEF6<O >F E4G=O, 6O <>65F5 
74=F< =4 E4=F 6 �=F5D=5F5.  www.tylohelo.com  
 

1. �=D>D<4F<O 4?O ?>?L7>64F5?5= 

 
�N4O< E =4DGL5==O<< D<7<G5E><<< <?< ?E<E<G5E><<< E?>E>5=>EFO<<, <<5NM<< E5=E>D=O5 =4DGL5-
=<O, 4 F4>65 E =55>?LL<< >?OF>< < 7=4=<O<< > F><, >4> D45>F45F >5>DG4>64=<5 E4G=O (=4?D<<5D, 
45FO<) D5>><5=4G5FEO ?>?L7>64FLEO E4G=>= ?>4 ?D<E<>FD>< <?< 6 E>>F65FEF6<< E <=EFDG>F<O<<, 44=-
=O<< ?<F><, >F65G4NM<< 74 <E 557>?4E=>EFL. 
%?54<F5, GF>5O 45F< =5 <7D4?< E M?5>FD>>4<5=>>=. 
 

2.1 %4G=4 
 
%F5=O < ?>F>?>> E4G=O 4>?6=O 5OFL E>D>L> F5??><7>?<D>64=O. �4F5D<4?O, >>F>DO5 4>>G<G?<DGNF 
F5??>, F4><5 >4> ??<F>4 < LFG>4FGD>4 4>?6=O 5OFL <7>?<D>64=O. $5>><5=4G5FEO <E?>?L7>64FLEO 45D5-
6O==O5 ?4=5?< 4?O >5L<6>< E4G=O. �E?< 6 ?><5M5=<< E4G=O 5EFL <4F5D<4?O, ?>7?>M4NM<5 F5??>, 
F4><5 >4> 45>>D4F<6=O5 >4<=<, EF5>?> < F.4., >=< G65?<G<64NF 6D5<O ?D>7D564 E4G=O, 4465 5E?< E4<> 
?><5M5=<5 E>D>L> F5??><7>?<D>64=> (E<. EFD. 7, D4745? 2,8). 
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2.2 $5>><5=44F<< ?> 65=F<?OF<< E4G=O 
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$<EG=>>  1 $5>><5=44F<< ?> 65=F<?OF<< E4G=O 

 
 
1. %4G=4        3. -?5>FD>>4<5=>4         5. �O?GE>=>= >4=4? 
2. �GL564O     4. �O?GE>=>= >?4?4=         6. �65DL 6 E4G=G 
7. �5=F<?OF<>==O= >?4?4= <>6=> GEF4=>6<FL 745EL < 74>DO64FL 57> =4 6D5<O ?D>7D564 < ?D<5<4  
    E4G=O. 
 
�?GE>=>= >?4?4= <>65F 5OFL GEF4=>6?5= 6 7>=5 A. '554<F5EL, GF> ?>EFG?4NM<= E656<= 6>74GE =5 
>E?46445F F5D<>EF4F M?5>FD>>4<5=><, GEF4=>6?5==O= ?>4 ?>F>?>><. 
 
�>=4 B E?G6<F >4> 7>=4 4?O ?>EFG??5=<O E65657> 6>74GE4, 5E?< E4G=4 =5 >5>DG4>64=4 ?D<=G4<F5?L=>= 
65=F<?OF<5=. � MF>< E?GG45 6O?GE>=>= >?4?4= 4>?65= 5OFL GEF4=>6?5= 6OL5 6?GE>=>7> E>FO 5O =4 1 
<5FD. 
 
�� '%&���������&� ��'%���� ������ � ���� C, �%�� &�$��%&�& $�%������� � -&�� 
�� ����.   
 
 
 

2.3 �47D56 E4G=O 
 
�5D54 F5<, >4> 6>?NG<FL M?5>FD>>4<5=>G, G554<F5EL, GF> E4G=4 ?D<7>4=4 > <E?>?L7>64=<N. �D< ?5D6>< 
=47D565 M?5>FD>>4<5=>4 <>65F <74464FL =5>>F>DO= 74?4E. �E?< ?D< =47D565 M?5>FD>>4<5=>< 6O ?>GG6-
EF6>64?< 74?4E, =5<54?5==> 6O>?NG<F5 M?5>FD>>4<5=>G < ?D>65FD<F5 E4G=G. �4F5< E=>64 55 6>?NG<F5.  
 
-?5>FD>>4<5=>4 6>?NG45FEO ?GF5< ?>6>D>F4 DGG>< F4=<5D4, 4 F5<?5D4FGD4 =4EFD4<645FEO ?D< ?><>M< 
D57G?OF>D4 F5D<>EF4F4.   
 
�4< =5>5E>4<<> 6>?NG<FL M?5>FD>>4<5=>G ?D<5?<7<F5?L=> 74 >4<= G4E 4> ?>E5M5=<O E4G=O, 4?O F>7>, 
GF>5O >4<=< < 6>74GE 6=GFD< GE?5?< D46=><5D=> ?D>7D5FLEO. 
 
�5 >?44<F5 ?D54<5FO =4 >4<5=>G. �5 EGL<F5 >4564G =4 M?5>FD>>4<5=>5 <?< DO4>< E =5=.   
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2.4 �4<=< 4?O M?5>FD>>4<5=>< 
 
�4G5EF65==O5 >4<=< E>>F65FEF6GNF E?54GNM<< FD55>64=<O<: 
 
-      �4<=< 4?O E4G=O 4>?6=O 6O45D6<64FL =47D56 < <7<5=5=<O F5<?5D4FGDO ?D< <E?4D5=<< 6>4O, 

=4?<645<>= =4 =<E. 
 

-      �5D54 <E?>?L7>64=<5< 6 E4G=5 >4<=< 4>?6=O 5OFL E>D>L> ?D><OFO, GF>5O =5 5O?> 74?4E4 < 
?O?<. 

 
-      ' >4<=5= 4?O E4G=O 4>?6=4 5OFL =5D>6=4O ?>65DE=>EFL, GF>5O ??>M44L <E?4D5=<O 6>4O 5O?4 

>4> <>6=> 5>?LL5. 
 
-      �4<=< 4?O E4G=O 4>?6=O 5OFL 4>EF4F>G=> 5>?LL<<< (4?O 5>?LL<E M?5>FD>>4<5=>> 

?D<5?<7<F5?L=>  (50380 <<),  GF>5O <564G >4<=O<< ?57>> ?D>E>4<? 6>74GE. -F> ?D>4?5645F ED>> 
E?G65O =47D564F5?L=OE M?5<5=F>6.  

 
-      �4<=< E?54G5F G>?44O64FL E 747>D4<<, GF>5O GE<?<FL 65=F<?OF<N <564G =<<<. %?54<F5, GF>5O  
       =47D564F5?L=O5  M?5<5=FO =5 E>?D<>4E4?<EL 4DG7 E 4DG7>< <?< E >>D?GE>< M?5>FD>>4<5=><. �5  
 E7<54=F5  =47D564F5?L=O5 M?5<5=FO.  
 
-      $57G?OD=> ?5D5>?44O64=F5 >4<=< (E>FO 5O D47 6 7>4) < 74<5=O=F5 <4?5=L><5 < D4E>>?>6L<5EO 

>4<=< =>6O<<, 5>?55 >DG?=O<<. 
 
-      �4<=< =G6=> G>?44O64FL F4>, GF>5O >=< ?>>DO64?< =47D564NM<5 M?5<5=FO. �4=4>> =5 >?44<F5 

5>?LL>5 >>?<G5EF6> >4<=5= =4 =47D564F5?L=O5 M?5<5=FO. �>?<G5EF6> >4<=5=, =5>5E>4<<>5 4?O 
G>?44>< E<>FD<F5 6 &45?. 1  =4 EFD4=<F5 8. 

 
-       �4?5=L><5 >4<=<, 4465 5E?< >=< 6>?NG5=O 6 ?>EF46>G, =5?L7O G>?44O64FL 6 M?5>FD>>4<5=>G, F4>  
 >4> >=< <>7GF ?D>64?<FLEO 6=GFDL M?5>FD>>4<5=>< G5D57 65DF<>4?L=O5 ??4EF<=O. 
 
-       �4D4=F<O =4 M?5>FD>>4<5=>G =5 45=EF6<F5?L=4 4?O 45D5>F>6, 6>7=<>L<E 6 D57G?LF4F5 ??>E>= 

65=F<?OF<<,  6O764==>= <E?>?L7>64=<5< <5?><E >4<=5=, 4 F4>65 GD57<5D=> ??>F=>= G>?44>>= 
>4<=5=. 

 
-       �5 4>?GE>45FEO <E?>?L7>64=<5  F4?L>>6O= >4<5=L, MF> <>65F ?D<65EF< > F4><< ?>6D5645=<O<   
 M?5>FD>>4<5=><, =4 >>F>DO5 =5 D4E?D>EFD4=O5FEO 74D4=F<O ?D><76>4<F5?O 

 
-      �5 <E?>?L7G=F5 6 >4<=5= 4?O E4G=O F4?L>>6O= >4<5=L. �4D4=F<5= =4 ??<FG =5 ?>>DO64NFEO  
 ?N5O5 ?>6D5645=<O, ?>?GG5==O5 6 D57G?LF4F5 57> <E?>?L7>64=<O. 

 
-      ���$�-��&%/ �%���,����&, ���$���&��, ��� ������! 
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2.5 %D54EF64 G?D46?5=<O M?5>FD>>4<5=>< 
 
 
                                          

2.5.1 &4=<5D 
 
'?D46?5=<5 M?5>FD>>4<5=>>= >EGM5EF6?O5FEO ?D< ?><>M< 12-G4E>6>7> F4=<5D4, D45>F4NM57> 6 FD5E 
7>=4E. &4=<5D GEF4=46?<645FEO ?GF5< ?>6>D>F4 DGG>< ?> G4E>6>= EFD5?>5 4> =5>5E>4<<>= D45>G5= 
7>=O. �D< D45>F5 F4=<5D ?>EF5?5==> 6>76D4M45FEO ?D>F<6 G4E>6>= EFD5?>< =4 =G?56>5 ?>?>65=<5.   
 

1.   �>?>65=<5 «0». -?5>FD>>4<5=>4 6O>?NG5=4.  
 

2. $45>G4O 7>=4 «133 G4E>6». �E?< GEF4=>6<FL DGG>G =4 MF>= 7>=5, 
  F> M?5>FD>>4<5=>4 =47D5645FEO ?D< ?>?=>= <>M=>EF<, 4 
  F5D<>EF4F E4G=O >>=FD>?<DG5F F5<?5D4FGDG. 
 

3. �>=4 ?D54GEF4=>6>< «139 G4E>6». �E?< GEF4=>6<FL DGG>G =4 MF>= 
  7>=5, <>6=> GEF4=>6<FL ?5D<>4 6D5<5=<, G5D57 >>F>D>5 
  M?5>FD>>4<5=>4 6>?NG<FEO. �47D564F5?L=O5 M?5<5=FO =5 5G4GF 
  =47D564FLEO, >>744 F4=<5D EF><F 6 MF>= 7>=5.    
 
�5D54 F5<, >4> 6>?NG<FL M?5>FD>>4<5=>G, G554<F5EL, GF> E4G=4 
 ?D<7>4=4 > <E?>?L7>64=<N. 
 
�G45F ?GGL5, 5E?< E=4G4?4 F4=<5D ?D>>DGF<FL 44?LL5 
=5>5E>4<<>7> 6D5<5=<, 4 74F5< 65D=GFL 57> >5D4F=> =4 =G6=>5 6D5<O. 
�E?< ?5D5>?NG4F5?L =5 65D=G?EO >5D4F=> 
 =4 ?>?>65=<5 «0», ?>E?5 >>>=G4=<O ?D55O64=<O 6 E4G=5, F> 
 ?>65D=<F5 57> =4 «0» 6DGG=GN.     
 
 
 

2.5.2 &5D<>EF4F 
 
$57G?OF>D F5D<>EF4F4 =4E>4<FEO  DO4>< E F4=<5D><. '5< 44?LL5  
6?D46> (?> G4E>6>= EFD5?>5) ?D>>DGG<645FEO DGG>4 F4=<5D4,  F5< 6OL5 
EF4=>6<FEO F5<?5D4FGD4 6 E4G=5. �GGL<= E?>E>5 =4=F< <454?L=GN  
F5<?5D4FGDG 3 E=4G4?4 ?>65D=GFL D57G?OF>D F5D<>EF4F4 ?>?=>EFLN  
6?D46> < 44FL F5<?5D4FGD5 ?>4=OFLEO 4> 65?45<>7> 7=4G5=<O.  
�4?55 <54?5==> ?>65D=<F5 D57G?OF>D F5D<>EF4F4 ?D>F<6 G4E>6>= 
EFD5?><, ?>>4 =5 GE?OL<F5 <O7><= M5?G>>. �E?< 6O E>F<F5  
?5D5GEF4=>6<FL F5<?5D4FGDG, ?>EF5?5==> ?>6>D4G<64=F5 D57G?OF>D 
 F5D<>EF4F4, ?>>4 F5<?5D4FGD4 =5 EF4=5F ?>4E>4OM5=.  
 
&5D<>EF4F 5G45F =5?D46<?L=> D45>F4FL, 5E?< >4<=< 5G4GF G?>65=O  
E?<L>>< ??>F=> 4DG7 > 4DG7G, <?< 5E?< >=< 5G4GF E?<L>>< <4?5=L><<<. 
 %<. $4745? «�4<=< 4?O M?5>FD>>4<5=><» =4 EFD.5. 
  
&5D<>EF4F <<55F 6EFD>5==O= >7D4=<G<F5?L F5<?5D4FGDO, >>F>DO= >E=4M5=  
>=>?>>= E5D>E4, D4E?>?>65==>= DO4>< E D57G?OF>D>< F5D<>EF4F4.  
 

PALAUT US    RETUR    RESETTING

+

 

$G>>6>4EF6> ?> SKSM STJ 6 

0 1
2

3

1

2

3
45

6

7

8

9



 

 

2.6 &G<5?5D M?5>FD>=47D564 
 
&G<5?5D M?5>FD>=47D564 <E?>?L7G5FEO 6 4><4E E M?5>FD<G5E>>= E<EF5<>= >F>??5=<O.   
 
&5D<>EF4F M?5>FD>>4<5=>< F4>65 G?D46?O5F FG<5?5D>< =47D564. �DG7<<< E?>64<<, 4><4L=55 >F>??5-
=<5 6>?NG45FEO, >>744 F5D<>EF4F E4G=O >F>?NG45F ?<F4=<5 M?5>FD>>4<5=><.   
 

2.7 �E?< M?5>FD>>4<5=>4 =5 =47D5645FEO  
 
�E?< M?5>FD>>4<5=>4 =5 =47D5645FEO, ?D>65DLF5 E?54GNM55: 
 
1. �>445FEO M?5>FD>?<F4=<5, 4 7?46=O= ?5D5>?NG4F5?L =4E>4<FEO 6 ?>?>65=<< «I» (DO4>< E> L>4?>=  
    F5D<>EF4F4) 
2. &4=<5D =4E>4<FEO 6 7>=5 =47D564 (D45>G5= 7>=5); 
3. &5D<>EF4F ?5D5>?NG5= =4 F5<?5D4FGDG, >>F>D4O 6OL5 F5>GM5= F5<?5D4FGDO E4G=O; 
4. �5D54=<5 ?D54>ED4=<F5?< M?5>FD>>4<5=><  =5 ?>6D5645=O; 
5. &4=<5D =5 74EFDO?. �D>65DLF5, GF> DGG>4 =5 FD5FEO >5 >E=>64=<5. �564G DGG>>= < >E=>64=<5<  
    4>?65= >EF464FLEO 747>D  D47<5D>< =5 <5=55 1<<.    
 
�E?< E4G=4 =4E>4<?4EL 6 E>?>4=OE GE?>6<OE, >7D4=<G<F5?L F5<?5D4FGDO <>65F =5 D45>F4FL. �7D4=<-
G<F5?L ?5D574?GE>45FEO ?GF5< =464F<O >=>?>< E5D>E4. �5D4F<F5 6=<<4=<5, GF> >7D4=<G<F5?L =5 D45>-
F45F, ?>>4 F5<?5D4FGD4 =5 4>EF<7?4 7=4G5=<O ?D<<5D=> -5°C. �E?< M?5>FD>>4<5=>4 6E5 5M5 =5 D45>F4-
5F, ?>64?G=EF4, E6O6<F5EL  E 46F>D<7>64==O< E5D6<E>< 4?O F>7>, GF>5O 5O? 6O?>?=5= D5<>=F.    
 

2.8 �>47>F>6>4 > GEF4=>6>5 M?5>FD>>4<5=><  
 
�D>65DLF5 E?54GNM55 ?5D54 F5<, >4> GEF4=46?<64FL M?5>FD>>4<5=>G: 
 
1. %>>F=>L5=<5 <>M=>EF< ?5G< (>�F) < >5N5<4 ?><5M5=<O E4G=O (<3). $5>><5=44F<< ?> E>>F=>L5=<N  
    «>5N5< / <>M=>EFL» ?D<6545=O 6 F45?<F5 1 =4 EFD.8). �4?D5M45FEO 6OE>4<FL 74 ?D545?O  
    <<=<<4?L=>7> < <4>E<<4?L=>7> >5N5<4. 
 
2. �OE>F4 ?>F>?>4 6 ?><5M5=<< E4G=O 4>?6=4 5OFL =5 =<65 1900 <<. 
 
3. �5<7>?<D>64==O5 < ><D?<G=O5 EF5=O G65?<G<64NF 6D5<O ?D5464D<F5?L=>7> ?D>7D564. �464O=  
    >644D4F=O= <5FD >LFG>4FGD5==>7> ?>F>?>4, EF5=O <?< EF5>?O==>= ?>65DE=>EF< 4>546?O5F > >5N5<G  
    ?><5M5=<O E4G=O 1,2 <3 
 
4. �D>65DLF5 ?> F45?<F5 2 ( EFD.9) =><<=4? ?D54>ED4=<F5?O (�) < ?D46<?L=O= 4<4<5FD E<?>6>7>  
    >455?O (<<²) 4?O M?5>FD>>4<5=><. 
 
5. %>7?4EG=F5 557>?4E=>5 D4EEF>O=<5 6>>DG7 M?5>FD>>4<5=><. �>>DG7 M?5>FD>>4<5=>< 4>?6=> 5OFL  
    4>EF4F>G=> D4EEF>O=<O 4?O F>7>, GF>5O 6O?>?=<FL F5E=<G5E>>5 >5E?G6<64=<5, GEF4=>6>G 465D=>7>  
    ?D>5<4, < F.4.    
 

2.9 'EF4=>6>4 M?5>FD>>4<5=>< 
 
 
�D< GEF4=>6>5 M?5>FD>>4<5=>< E?54G5F ?D<45D6<64FLEO D5>><5=44F<= ?> 557>?4E=O< D4EEF>O=<O<, 
?D<6545==OE =4 $<E. 2, EFD. 8 44==>7> 4>>G<5=F4. &>=>4O 45D56O==4O ?4=5?L =5 ?>4E>4<F 6 >4G5EF65 
>E=>64=<O 4?O >D5??5=<O. �E=>64=<5 4?O >D5??5=<O 4>?6=> 5OFL GE<?5=> 45D56O==O< 5DGE>< 74 
?4=5?LN. �<=<<4?L=O5 747>DO, G>474==O5 =4 EFD4=<F5 8, 4>?6=O E>5?N44FLEO F4>65 6 E?GG45 5E?< 
<4F5D<4?O, <7 >>F>DOE <77>F>6?5=O EF5=O E4G=O, O6?ONFEO >7=5EF>=><<<.   
 
�4?D5M45FEO >5?<F>6O64FL EF5=O <?< ?>F>?>> 7<?E>>4DF>==>< <?< 4DG7<<< ?57><<< 74M<F=O<< ?>-
>DOF<O<<, ?>E>>?L>G >=< <>7GF EF4FL <EF>G=<>>< 6>77>D4=<O.   
 
� ?><5M5=<< E4G=O D47D5L45FEO GEF4=46?<64FL F>?L>> >4=G ?5GL.   
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2.9.1 �57>?4E=O5 D4EEF>O=<O  GEF4=>6>< M?5>FD>>4<5=>< 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
$<E. 2  �57>?4E=O5 D4EEF>O=<O 

 
 
 
 

�>M-
=>EFL 

�><5M5=<5 E4G-
=O 

�<=<<4?L=>5 D4EEF>O=<5: �<=. D4EEF>-
O=<5 4?O 

=4EF5==>7>  
>D>=LF5==4 

�<=. D4EEF>O=<5 
4> =<L<   

 

�4<=< 

 
 
 
 

>�F 

�5N5< 
 
 
 

<3 

�OE>F4 
 
 
 

<< 

% 5>-
>>6 

 
A 

<< 

%?5D54< 
 
 

D 
<< 

�> ?>F>-
?>>a 

 
F 

<< 

�> 
?>?4 

 
K 

<< 

 
 
 

B 
<< 

 
 
 
J 

<< 

 
 
 

E 
<< 

 
 
 
 

=.>7 
3,0 
4,5 
6,0 
8,0 
9,0 

2 3 4 
3 3 6 
5 3 9 

8 3 13 
9 3 14 

1900 
1900 
1900 
1900 
1900 

30 
50 
70 

100 
100 

50 
80 

100 
150 
200 

1200 
1200 
1250 
1250 
1250 

120 
120 
120 
120 
120 

50 
70 
90 

120 
120 

390 
390 
390 
390 
390 

540 
580 
650 
750 

- 

15 
15 
23 
23 
23 

 
&45?<F4 1 �57>?4E=O5 D4EEF>O=<O 
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�<=<<4?L=O5 D4EEF>O=<O 4> <>=F46=>7>  
>D5??5=<O (<<)  

$5L5F>4  Ø 3,5 << 

�<=FO  6 x 40 (2 LF.) 
�<=FO  6 x 16 (2 LF.) 



 

 
 
 

2.10 �>4>?NG5=<5 M?5>FD>>4<5=>< > M?5>FD<G5E>>= E5F<  
 
�>4>?NG5=<5 M?5>FD>>4<5=>< > M?5>FD<G5E>>= E5F< >EGM5EF6?O5FEO >64?<D<F<D>64==O< M?5>FD<>>< < 
6 E>>F65FEF6<< E 45=EF6GNM<<< =>D<4<<. -?5>FD>>4<5=>4 ?>4>?NG45FEO > <EF>G=<>G ?5D5<5==>7> 
F>>4. �E?>?L7G=F5 >455?<  H07RN-F (60245 IEC 66) <?< >455?< E>>F65FEF6GNM57> F<?4. �4==O5 D5>>-
<5=44F<< D4E?D>EFD4=ONFEO =4 4DG7<5 >455?< 6=5L=<E GEFD>=EF6 (E<7=4?L=>= ?4<?>G><, FG<5?5D4 
M?5>FD>=47D564). � >4G5EF65 E>54<=<F5?L=>7> >455?O M?5>FD>>4<5=><, =5 <E?>?L7G=F5 >455?< E ?>?<-
6<=<?E?>D<4=>= <7>?OF<5=.   
 
�>?GE>45FEO <E?>?L7>64=<5 <=>7>?>?NE=>7> >455?O (=4?D<<5D 7-?>?NE=>7>), 5E?< =4?DO65=<5 >4<=4-
>>6>5. �E?< >FEGFEF6G5F >F45?L=O=  ??46><= ?D54>ED4=<F5?L, E5G5=<5 6E5E >455?5= 4>?6=> 5OFL >4<-
=4>>6O<, F.5. E>>F65FEF6>64FL 7?46=><G ?D54>ED4=<F5?N.    
 
 
%>54<=<F5?L=4O >>D>5>4 =4 EF5=5 E4G=O 4>?6=4 5OFL GEF4=>6?5=4 E <<=<<4?L=O< 557>?4E=O< D4E-
EF>O=<5<, GEF4=>6?5==O< 4?O M?5>FD>>4<5=><. �4>E<<4?L=4O 6OE>F4 4?O E>54<=<F5?L=>= >>D>5>< 
E>EF46?O5F 500<< >F ?>?4 ($<E. 3, EFD. 10). 
�E?< E>54<=<F5?L=4O >>D>5>4 =4E>4<FEO =4 D4EEF>O=<< 500<< >F =47D564F5?O, F> <4>E<<4?L=4O 6OE>-
F4 >F ?>?4 E>EF46?O5F 1000 <<.    
 
%?54G=F5 45=EF6GNM<< ?D46<?4< M?5>FD<G5E>>= 557>?4E=>EF< ?D< GEF4=>6>5 M?5>FD>>4<5=><.   
 
 
 

�>M=>EFL 
 
 

>�F 

%<?>6>= >4-
55?L  H07RN-F/ 

60245 IEC 66 
<<2 

400� 3 415� 
3�~ 

�?46><= 
?D54>ED4=<-

F5?L 
 
 
 

 
A 

%<?>6>= >455?L  
H07RN-F/ 

60245 IEC 66 
<<2 

230V  3~ 

�?46><= 
?D54>ED4=<-

F5?L 
 
 
 
 

A 

%<?>6>= 
>455?L  

H07RN-F/ 
60245 IEC 66 

mm2 
230� 3 240� 

1�~ / 2~ 

�?46><= 
?D54>ED4=<-

F5?L 
 
 

 
 

A 
3,0 
4,5 
6,0 
8,0 
9,0 

5 x 1,5 
5 x 1,5 
5 x 1,5 
5 x 2,5 
5 x 2,5 

3 x 10 
3 x 10 
3 x 10 
3 x 16 
3 x 16 

4 x 1,5 
4 x 2,5 
4 x 2,5 
4 x 6 
4 x 6 

3 x 10 
3 x 16 
3 x 16 
3 x 25 
3 x 25 

3 x 2,5 
3 x 4,0 
3 x 6,0 
3 x 6,0 
------ 

1 x 16 
1 x 20 
1 x 35 
1 x 35 
------ 

 
&45?<F4 2. �455?< < ??46><5 ?D54>ED4=<F5?<  
 
 

2.11 &G<5?5D M?5>FD>=47D564 
 
&G<5?5D M?5>FD>=47D564 <E?>?L7G5FEO 6 4><4E E M?5>FD<G5E>>= E<EF5<>= >F>??5=<O. 
 
-?5>FD>>4<5=>4 <<55F ?>4>?NG5=<O 4?O >>=FD>?O FG<5?5D>< M?5>FD>=47D564 (?><5G5= N-55).  %>54<-
=<F5?< N-55 < =47D564F5?L=O5 M?5<5=FO D45>F4NF >4=>6D5<5==> (230�). &5D<>EF4F M?5>FD>>4<5=>< 
F4>65 >>=FD>?<DG5F FG<5?5D M?5>FD>=47D564. �DG7<<< E?>64<<, 4><4L=55 >F>??5=<5 6>?NG45FEO, 
>>744 F5D<>EF4F E4G=O ?5D5EF45F ?>4464FL ?<F4=<5 =4 M?5>FD>>4<5=>G.  
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$<E. 3 $4E?>?>65=<5 E>54<=<F5?L=>= >>D>5>< 4?O E>54<=<F5?L=>7> >455?O 6 ?><5M5=<< E4G=O    

 
 
 
 
 

2.12 $4E?>?>65=<5  E>54<=<F5?L=>= >>D>5>< 
 
 
A = 'EF4=>6?5==O5 <<=<<4?L=O5 557>?4E=O5 D4EEF>O=<O 
 
1. $5>><5=4G5<>5 D4E?>?>65=<5 E>54<=<F5?L=>= >>D>5><  
2. $5>><5=4G5FEO GEF4=46?<64FL 6 MF>< <5EF5 E<?G<<=>6GN >>D>5>G.   
3. -FG >5?4EFL =5>5E>4<<> <75574FL. �E5744 <E?>?L7G=F5 E<?G<<=>6GN >>D>5>G.   
 
� 4DG7<E <5EF4E <E?>?L7G=F5 F5??>EF>=>GN >>D>5>G (T 125 °C) < F5??>EF>=><5 >455?<  (T 170 °C). �>>?> 
E>54<=<F5?L=>= >>D>5>< =5 4>?6=> 5OFL >4><E-?<5> 747D4645=<=. �E?< E>54<=<F5?L=4O >>D>5>4 GEF4-
=46?<645FEO 6 7>=4E 2 <?< 3, >5D4F<F5EL > <=EFDG>F<< < ?D46<?4< <5EF=>7> ?>EF46M<>4 M?5>FD>M=5D-
7<<. 
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2.13 %E5<4 M?5>FD<G5E><E E>54<=5=<= 
 

1
2
3

kW

230V
SEPC 62    SEPC63    SEPC 64    SEPC 65    SEPC 65B     SEPC65C    
 1000W       1500W       2000W        2670W         3000W          3300W

3,0
4,5
6,0
8,0
9,0

1
3

N         N  55

B1 B2  B3

A1  A2  A3

354 SKSM 149 E

1. 2. 3.

1 2 3 64 5

          230 V  3~
     3,0 kW - 9,0 kW

L1 L2 L3N

1 2 3 64 5

 N /L1 L2

1 2 3 64 5

400V - 415V  3N~
3,0 kW - 9,0 kW

L1 L2 L3

230V - 240V  1N~/ 2~
   3,0 kW - 8,0 kW

1
3

1
3

4
6

4
6

4
6

1,2,3
1,2,3

1,2,3
1,2,3

1                1                 1

Teho, Effekt
Input, Potencia
Leistung, Moc
Vöimsus,Wejscie
Puissance, Výkon
�>M=>EF, Energie
�¯Ã¿·¿Ã

Lämpövastukset, Värmeelement, Tennid, Heating elements, 
Heizeelement, Resistores Térmicos, Éléments chauffants, 
Elementy grzewcze,             Topné prvky, �47D564F5?5= 5?5<5=F,
Element de înc�lzire, �·Ã¿³¿Ç»»Ï ÃÇ¿»Ç·¯¿

&-�O,

1. Syöttö / Nätet / Stromnetz / Power input. / Puissance absorbée / Vermogensingang / Entrada de 
    alimentación / Napájení /  / �>=EG<<D4=4 <>M=>EF / �E>4=>5 =4?DO65=<5 / Wej[cie zasilania.
    Alimentare cu energie / �¯Ã¿·¿Ã ÇÃ¿Ç¿·¿Ã¯³Ã »ÃÇÏ¿Ã
2. Merkkilamppu / Signallampa / Signal lamp / Kontrolleuchte / lampe de signal / lámpara de / �ÇÇ¿¯³ Ã¯¿³¿Ã·Ã

Signální kontrolka /  / %<7=4?=4 ?4<?4 / Lamp� de semnalizareE<7=4?L=4O ?4<?4  / lampa sygnalizacyjna
3. Sähkölämmityksen vuorottelu / Alternering med elvärme / Signal kontakt / Signal contact / Contac t 
    du signal / Signaalcontact / Contacto señal / E<7=4?4 >>=F4>F / Sterowanie ogrzewaniem elektrycznym

Signál  / %<7=4?5= >>=F4>F / Contact de semnal / �Ã³Ç¯ Ã·¿¯ÇË¿

 
 
$<E. 4 %E5<4 M?5>FD<G5E><E E>54<=5=<= 
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3. �4?4E=O5 G4EF< > M?5>FD>>4<5=>5 SKSM STJ 
 

 
�>7<F<O 

7 
�><5D �4<<5=>64=<5 

SKSM STJ 
30 

SKSM STJ 
45 

SKSM STJ 
60 

SKSM STJ 
80 

SKSM STJ 
90 

1 4071002 �E=>6=4O D5L5F>4 1 1 1 1 1 

2 5509053 
&4=<5D 
OYKF 1 

1 1 1 1 1 

3 5408013 
&5D<>EF4F 

OLCH 1 
1 1 1 1 1 

4 7812550 

%>54<=<F5?L 4?O 
?>4>?NG5=<O > 

E5F< 
NLWD 1-1 

1 1 1 1 1 

5 7712000 
�455?L=O= 746<< 

NKWA 1 
1 1 1 1 1 

6 7309531 
$57G?OF>D  
YWWA 6-1 

2 2 2 2 2 

7 5207501 

�47D564F5?L=O= 
M?5<5=F  
SEPC 62 

1000�F/230� 

3     

8 4316222 

�47D564F5?L=O= 
M?5<5=F  
SEPC 63 

1500�F/230� 

 3    

9 4316221 

�47D564F5?L=O= 
M?5<5=F  
SEPC 64 

2000�F/230� 

  3   

10 4316220 

�47D564F5?L=O= 
M?5<5=F  
SEPC 65 

2670�F/230� 

   3 1 

11 5207518 

�47D564F5?L=O= 
M?5<5=F  

SEPC 65B 
3000�F/230� 

    1 

12 5207519 

�47D564F5?L=O= 
M?5<5=F  

SEPC 65C 
3300�F/230� 

    1 

13 7513002 
�<=F Philips 

M5 x 10 
3 3 3 3 3 

 
 
&45?<F4 3 �4?4E=O5 G4EF< 4?O SKSM STJ  
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4. ROHS 
 

         
 
 

Instructies ter bescherming van het milieu 
 
Dit product mag aan het einde van de levensduur niet 
worden weggegooid via het normale huishoudafval. In 
plaats daarvan moet het worden afgegeven bij een 
inzamelplaats voor het recyclen van elektrische en 
elektronische apparaten. 
 
Dit is waar het symbool op het product, de 
gebruiksaanwijzing of de verpakking naar verwijst.  
 
 

 
 
Het materiaal kan worden gerecycled op basis van de 
aangebrachte markeringen. Door hergebruik van 
materialen of oude apparaten levert u een belangrijke 
bijdrage aan de bescherming van ons milieu. Lever het 
afgedankte product af bij de inzamelplaats zonder 
saunastenen of het deksel van speksteen. 
 
Voor vragen over de inzamelplaats kunt u contact 
opnemen met de gemeente. 

 

'>474=<O ?> 74M<F5 >>DG64NM5= ED54O 
 
�>E?5 >>>=G4=<O ED>>4 E?G65O M?5>FD>>4<5=>G =5?L7O 
6O5D4EO64FL 6 >>=F5==5D, ?D54=47=4G5==O= 4?O 
>5OG=OE 5OF>6OE >FE>4>6. -?5>FD>>4<5=>G E?54G5F 
E44FL 6 ?G=>F ?D<5<>< 4?O ?>E?54GNM5= ?5D5D45>F>< 
M?5>FD<G5E><E < M?5>FD>==OE GEFD>=EF6. 
 

�5 MF>< E>>5M45F <4D><D>6>4 <745?<O, <=D>D<4F<O 6 
<=EFDG>F<< <?< =4 G?4>>6>5. 
 

 

 

�5D5D45>F>4 <4F5D<4?>6 4>?6=4 >EGM5EF6?OFLEO 6 
E>>F65FEF6<5 E <4D><D>6>>= =4 =<E. �?47>44DO 
?>6F>D=><G <E?>?L7>64=<N <4F5D<4?>6 <?< 
<E?>?L7>64=<N EF4D>7> >5>DG4>64=<O ?N5O< <=O< 
E?>E>5>< <>6=> 6=5EF< 5>?LL>= 6>?44 6 45?> 74M<FO 
>>DG64NM5= ED54O. %4464FL <745?<5 6 F5=FD 
?5D5D45>F>< E?54G5F 557 >4<=5= 4?O E4G=O < E?>O 
F4?L>4. 
 

�> 6>?D>E4< <5EF ?5D5D45>F>< >5D4M4FLEO 6 
<G=<F<?4?L=GN 44<<=<EFD4F<N. 

Instructions for environmental protection 
 
This product must not be disposed with 
normal household waste at the end of 
its life cycle. Instead, it should be 
delivered to a collecting place for the recycling 
of electrical and electronic devices. 
 
The symbol on the product, the 
instruction manual or the  
package refers to this. 
 
 
 
 
The materials can be recycled according to the  
markings on them. By reusing, utilising the  
materials or by otherwise reusing 
old equipment, you make an important  
contribution for the protection of our environment. 
Please note that the product is returned to the recycling 
centre without any sauna rocks and soapstone cover. 
 
Please contact the municipal administration 
with enquiries concerning the recycling place. 
 

Instructions pour la protection de l9environnement 
 
Ce produit ne doit pas être mêlé aux ordures 
ménagères en fin de vie. Il doit être déposé dans un 
centre de collecte pour le recyclage des appareils 
électriques et électroniques. 
 
Le symbole apposé sur le produit, 
la notice d9utilisation ou l9emballage 
l9indique. 
 
 

 
 

Les matières peuvent être recyclées conformément à 
leur marquage. En réutilisant, recyclant les matières ou 
en utilisant différemment un vieil équipement, vous 
contribuez considérablement à la protection de 
l9environnement. 
Attention : ce produit doit être déposé au centre de 
recyclage sans pierres et sans parement en stéatite. 
 
 
Veuillez contacter votre Municipalité pour connaître le 
centre de recyclage. 
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